

ACCREDITATION EVIDENCE

Title: Graduate Follow-Up Survey 2021

Evidence Type: Corroborating

Date: 2021

WAN: 22-0395

Classification: Report

PII: No Redacted: No



Default Report

2021 Graduate Follow-up Survey
August 25th 2022, 1:12 pm MDT

Q1 - What was your status at the time you entered Western Wyoming Community College?

#	Answer	%	Count
1	entered directly after graduating from high school	46.67%	14
2	entered after earning a GED	6.67%	2
3	entered after graduating from high school and sitting out for a year or more	16.67%	5
4	transferred directly from another college	3.33%	1
5	entered after being out of college for a year or more	20.00%	6
6	other	6.67%	2
	Total	100%	30

Q2 - While attending WWCC, what was your primary employment status?

#	Answer	%	Count
1	employed full time (40 hours or more per week)	40.00%	12
2	employed part time (less than 40 hours per week)	26.67%	8
3	no employed	33.33%	10
	Total	100%	30

Q3 - If employed, was your job related to your academic major?

#	Answer	%	Count
1	Yes	30.43%	7
2	No	69.57%	16
	Total	100%	23

Q4 - Which statement best describes your current employment status?

#	Answer	%	Count
1	employed full time (40 hours or more per week)	53.33%	16
2	employed part time (less than 40 hours per week)	23.33%	7
3	unemployed, actively seeking employment	6.67%	2
4	unemployed, not seeking employment	16.67%	5
	Total	100%	30

Q5 - Please indicate your level of agreement with the following statements about WWCC.

#	Question	Strongly Agree		Agree		Disagree		Strongly Disagree		Not Sure		Total
6	I accomplished my community college education goals while at WWCC.	56.67%	17	40.00%	12	3.33%	1	0.00%	0	0.00%	0	30
3	I'm glad that I attended WWCC.	50.00%	15	43.33%	13	0.00%	0	3.33%	1	3.33%	1	30
4	WWCC is a friendly place.	50.00%	15	43.33%	13	0.00%	0	3.33%	1	3.33%	1	30
5	I would recommend WWCC to my family and friends.	50.00%	15	36.67%	11	6.67%	2	6.67%	2	0.00%	0	30
7	My experiences at WWCC improved my quality of life.	43.33%	13	30.00%	9	10.00%	3	3.33%	1	13.33%	4	30
1	WWCC did an excellent job of preparing me for further study at a four-year institution (if attending college).	41.38%	12	44.83%	13	3.45%	1	0.00%	0	10.34%	3	29
8	I received mid-term grades each semester.	40.00%	12	50.00%	15	0.00%	0	0.00%	0	10.00%	3	30
2	WWCC did an excellent job of preparing me for full-time work in my chosen career or profession (if employed).	31.03%	9	20.69%	6	13.79%	4	6.90%	2	27.59%	8	29

Q6 - Please indicate your level of satisfaction with the following aspects of WWCC.

#	Question	Very Satisfi ed		Satisfi ed		Dissatisfi ed		Very Dissatisfi ed		I did not use this servic e		No availab le on campu s		Not Sure		Tot al
1 6	Interaction with WWCC employees	56.67 %	1 7	36.67 %	1	3.33%	1	0.00%	0	0.00 %	0	0.00%	0	3.33 %	1	30
1	Accessibilit y of instructors	50.00 %	1 5	43.33 %	1 3	6.67%	2	0.00%	0	0.00 %	0	0.00%	0	0.00 %	0	30
4	Class size	50.00 %	1 5	50.00 %	1 5	0.00%	0	0.00%	0	0.00 %	0	0.00%	0	0.00	0	30
1 5	Variety of courses	50.00 %	1 5	40.00 %	1 2	6.67%	2	3.33%	1	0.00 %	0	0.00%	0	0.00	0	30
8	Helpfulness of instructors	43.33 %	1	46.67 %	1 4	10.00%	3	0.00%	0	0.00 %	0	0.00%	0	0.00 %	0	30
1	Personal safety	43.33 %	1 3	46.67 %	1 4	0.00%	0	3.33%	1	3.33 %	1	0.00%	0	3.33 %	1	30
1	Scheduling of courses	40.00 %	1 2	40.00 %	1 2	10.00%	3	10.00%	3	0.00	0	0.00%	0	0.00	0	30
1	Overall academic experience	36.67 %	1	56.67 %	1 7	3.33%	1	3.33%	1	0.00 %	0	0.00%	0	0.00 %	0	30
6	Facilities	33.33 %	1 0	46.67 %	1 4	13.33%	4	0.00%	0	6.67 %	2	0.00%	0	0.00	0	30
1	Program requiremen ts in major	33.33	1	53.33 %	1 6	10.00%	3	0.00%	0	0.00	0	0.00%	0	3.33 %	1	30
1 0	Instructor competenc e	33.33 %	1 0	60.00 %	1 8	3.33%	1	3.33%	1	0.00 %	0	0.00%	0	0.00 %	0	30
7	Grading	30.00 %	9	63.33 %	1 9	3.33%	1	0.00%	0	0.00 %	0	0.00%	0	3.33 %	1	30
5	Classroom equipment	26.67 %	8	53.33 %	1 6	10.00%	3	0.00%	0	10.00 %	3	0.00%	0	0.00	0	30
9	Innovativen ess of offerings	26.67 %	8	43.33 %	1 3	6.67%	2	0.00%	0	0.00 %	0	0.00%	0	23.33	7	30
2	Availability of courses	26.67 %	8	60.00 %	1 8	13.33%	4	0.00%	0	0.00 %	0	0.00%	0	0.00	0	30
3	Challenge of course work	23.33	7	70.00 %	2 1	6.67%	2	0.00%	0	0.00	0	0.00%	0	0.00 %	0	30

1 | Academic | 23.33 | 7 | 63.33 | 1 | 0.00% | 0 | 0.00% | 0 | 0.00% | 0 | 13.33 | 4 | 30

Q7 - Please evaluate your overall experience at WWCC.

#	Answer	%	Count
1	Excellent	63.33%	19
2	Good	26.67%	8
3	Average	3.33%	1
4	Poor	6.67%	2
5	Very Poor	0.00%	0
	Total	100%	30

Q8 - Please indicate your level of satisfaction with the following services and offices that provide the service to students.

#	Question	Very Satisfi ed		Satisfi ed		Dissatisfi ed		Very Dissatisfi ed		I did not use this servic e		Not availab le on campu s		Not Sure		Tot al
1 0	Library	60.00 %	1 8	30.00 %	9	0.00%	0	0.00%	0	10.00 %	3	0.00%	0	0.00 %	0	30
1	Academic Advising	50.00 %	1 5	36.67 %	1 1	6.67%	2	3.33%	1	0.00 %	0	0.00%	0	3.33 %	1	30
1	Registratio n	40.00 %	1 2	53.33 %	1 6	0.00%	0	3.33%	1	0.00	0	0.00%	0	3.33	1	30
6	Financial Aid	40.00 %	1 2	46.67 %	1 4	3.33%	1	3.33%	1	6.67 %	2	0.00%	0	0.00	0	30
3	Bookstore	40.00 %	1 2	56.67 %	1 7	0.00%	0	3.33%	1	0.00	0	0.00%	0	0.00	0	30
2	Admissions	36.67 %	1	60.00 %	1	3.33%	1	0.00%	0	0.00	0	0.00%	0	0.00	0	30
4	Business Office	36.67 %	1	43.33 %	1	0.00%	0	0.00%	0	20.00	6	0.00%	0	0.00	0	30
1 5	Student Leisure Areas/Stud ent Center	33.33 %	1 0	36.67 %	1 1	3.33%	1	0.00%	0	26.67 %	8	0.00%	0	0.00 %	0	30
1	Student Activities	26.67 %	8	40.00 %	1 2	0.00%	0	3.33%	1	30.00	9	0.00%	0	0.00	0	30
7	Food Service	20.00 %	6	43.33 %	1	10.00%	3	3.33%	1	23.33	7	0.00%	0	0.00	0	30
5	Cultural Programs	20.00 %	6	23.33 %	7	0.00%	0	3.33%	1	53.33 %	1 6	0.00%	0	0.00	0	30
1	Student Housing	20.00	6	23.33	7	3.33%	1	0.00%	0	53.33 %	1 6	0.00%	0	0.00	0	30
1	Student Governme nt	16.67 %	5	30.00 %	9	0.00%	0	0.00%	0	50.00 %	1 5	0.00%	0	3.33	1	30
1 7	Tutoring	16.67 %	5	20.00	6	3.33%	1	0.00%	0	60.00	1	0.00%	0	0.00	0	30
8	Intramural Activities	16.67 %	5	23.33 %	7	6.67%	2	0.00%	0	50.00 %	1 5	0.00%	0	3.33 %	1	30
1 6	Student Organizatio ns	16.67 %	5	40.00 %	1 2	3.33%	1	0.00%	0	36.67 %	1 1	0.00%	0	3.33	1	30
9	Job Placement	13.33 %	4	13.33 %	4	6.67%	2	0.00%	0	60.00 %	1 8	0.00%	0	6.67 %	2	30

Q9 - Please evaluate your progress towards the WWCC Goals for Student Success listed below. Tell us how your level of knowledge has changed.

#	Question	Improved Significantly		Improved Somewhat		Stayed the Same		Decreased Somewhat		Decreased Significantly		Total
4	My ability to see issues from multiple perspectives	55.17%	16	34.48%	10	10.34%	3	0.00%	0	0.00%	0	29
1	My ability to communicate in writing	51.72%	15	48.28%	14	0.00%	0	0.00%	0	0.00%	0	29
3	My ability to retrieve information	51.72%	15	37.93%	11	10.34%	3	0.00%	0	0.00%	0	29
6	My ability to develop life skills	44.83%	13	37.93%	11	17.24%	5	0.00%	0	0.00%	0	29
2	My ability to communicate with the spoken word	41.38%	12	44.83%	13	13.79%	4	0.00%	0	0.00%	0	29
5	My ability to solve problems	41.38%	12	51.72%	15	6.90%	2	0.00%	0	0.00%	0	29

Q10 - The following types of learning experiences at WWCC have been helpful to your intellectual and personal development.

#	Question	Strongly Agree		Agree		Disagree		Strongly Disagree		Not Sure		Total
3	Active participation in class activities	48.28%	14	41.38%	12	3.45%	1	0.00%	0	6.90%	2	29
7	Independent research	48.28%	14	34.48%	10	3.45%	1	0.00%	0	13.79%	4	29
4	Student presentation in class	34.48%	10	48.28%	14	10.34%	3	0.00%	0	6.90%	2	29
5	Workshops and activities	34.48%	10	44.83%	13	0.00%	0	0.00%	0	20.69%	6	29
2	Classroom lectures	27.59%	8	65.52%	19	3.45%	1	3.45%	1	0.00%	0	29
6	Laboratory courses	27.59%	8	51.72%	15	3.45%	1	0.00%	0	17.24%	5	29
1	Small group projects	24.14%	7	41.38%	12	13.79%	4	13.79%	4	6.90%	2	29
8	Campus involvement outside the classroom	13.79%	4	31.03%	9	10.34%	3	0.00%	0	44.83%	13	29
9	Involvement in campus clubs	13.79%	4	31.03%	9	6.90%	2	3.45%	1	44.83%	13	29

Q11 - Are you currently attending college elsewhere? If yes, please indicate where.

#	Answer	%	Count
1	University of Wyoming	40.00%	8
2	Utah State University	0.00%	0
3	University of Utah	5.00%	1
4	BYU	0.00%	0
5	Franklin University	0.00%	0
6	Utah Valley University	0.00%	0
7	Idaho State University	0.00%	0
8	Colorado State University	0.00%	0
9	University of Colorado	0.00%	0
10	Regis University	0.00%	0
11	Other Wyoming Community College	0.00%	0
12	Other (please list)	55.00%	11
	Total	100%	20

Q12 - If yes, how did your credits transfer?

#	Answer	%	Count
5	Reason for lost credit hours:	52.63%	10
1	All credits transferred	36.84%	7
3	Lost 11-20 credit hours	5.26%	1
4	Lost over 20 credit hours	5.26%	1
2	Lost 1-10 credit hours	0.00%	0
	Total	100%	19

Reason for lost credit hours:

Reason for lost credit hours: - Text

Classes not valid in Utah

Classes didn't cover the same material

My computer class taken for AA Psychology does not meet STEM requirement for transfer

Did not apply

Spanish was not recognized as sufficient.

Didn't transfer

Did not relate to my degree

Changed majors

Differences in specific requirements for my defree

Courses were treated as electives.

Q13 - Which statement best describes your current employment status?

#	Answer	%	Count
5	Employer Name and Address:	33.33%	9
1	PT, while in college	22.22%	6
3	FT in my Western degree area	22.22%	6
4	FT in another field	18.52%	5
2	PT, not in college	3.70%	1
	Total	100%	27

Employer Name and Address:

Employer Name and Address: - Text

An Elementary School In St. George

Child Development Center. Rock Springs

Swcsd2. Monroe Elementary

Old stones 4 Country Club Lane, Pinedale, Wy 82941

Star Valley Health 901 Adams St, Afton WY 83110

UCSD#1

Dover Behavioral HealthSystem 725 Horsepond RD, Dover, DE, 19901

Prime INC 3720 W 800 S, Salt Lake City, UT. 84104

Not employed